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(ix) Castigliano’s theorem |

(x) -Yield stress.

2. A simply supported beam of uniform cross
~ _section of length 2L has an additional prop at the
‘middle which deflects by A times the load it can
carry. If the total uniformly distributed load on

the beam is W, find the reaction of the prop 7 10-

3. Find the vertical deﬂection of joint Cl for the
truss shown below. All members are of uniform
cross <section of 800 mm?. E=2:1x10° N/mm” 10.
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4. A beam AB6m long is fixed at 4 and simply
supported at B. It carries a uniformly distributed

B.Tech - 4/SA- 1(Set-1) ( Continued )



€3

load of 50 kN/m i in the middle third of the beam
Draw the shear force and bending moment
' dlagrams for the beam i 10>

5. A simply supported beam AB of span 12 m
carries a point load of 100 kN at point C which
is 4 m from end 4. The moment of inertia of the
beam is /in the part BCand 2/ in the part Af
Find the slope at end B and deﬂectlon at
point C. 10

E=2x10°N/mm® [=100 x 10" mm"*

6. A continuous beam ACB simply supported at the
two ends is 8 m long, with AC=3mand BC=5m.
The span AC cai'ries a load of 50 KN/m while the
span BC carries a concentrated load of 120 kN
at the middle of the span. Draw the bending

- moment diagram. e 1)

7. Draw the influence line diagram for bending
moment and shear force for a section of a simply
supported beam at a distance X from the left end. 10

B.Tech - 4/SA- I(Set-1) ( Turn Over )






